O
% @ @ w som legger til tre brek

StudentName: ExamDate: ExamScore:
6 2 6
— 4+ 4+ - =
4 7 8
2 4 3
— 4+ —4+ =
6 8 4
1 5 4
6 &8 3
4 3 7
9 6 5
2 7 5
4 3 2
4 7 3
5 3 9
1 2 6
4+ 4+ =
7 5 2
1 2 7
4124 =
4 5 8
3 2 3
4+ 4+ =
7 5 4

1 5 2
4+ 4+ ==
9 4 6
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Y @'.‘ som legger til tre brok

StudentName: ExamDate: ExamScore:
6 2 6 71 15
4+ I+ = =9
4 7 8 28 28
2 4 3 19 7
—F+=-t-=—=1—
6 8 4 12 12
1 5 4 17 1
—F+ -t =-=—=2-

6 &8 3 8 8

4 3 7 211 31

—+ 4= =0T

9 6 5 90 90

2 7 5 16

— -4+ - =_— =5

4 3 2 3 3

4 7 3 52 7

— -4+ =" =3—

5 3 9 15 15

1 2 6 124 19

4= =3—

7 5 2 5 35

1 2 7 101 21
Sl 4= —— =2
4 5 8 40 40
3 2 3 221 81

—+—-+-= =1
7 5 4 140 140
1 5 2 61 25
—F+—-t—-=—=1—

9 4 6 3 36
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